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{un+1 = —7uy

Uy =

f(x) = (7x° + 10 — 9x>)10
f(x) =
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— cos(m + x)

P(x) = —1+5x? —7x
A=

Z=6—28i
z| =
= —9 10 8 i 5
f(x) =—-9x" — sinx — —3

f'(x) =

y 6x2+9x —3
xotb0 \ —8x2 — 8x + 10

u(9; 4) et v(—4; —6)
U-v

B 37T+. 3
Z—cos4 lsm4

7 =

{uo = _3
Upp1 = Uy + 2
terme général

f(x) = (7x° — 4x10 — 9x5)8
flx) =
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282

COS (% — X)

P(x) = 10x — 4x?

z=—-2-—8i
|z| =
-
B »10
f(x) —8x8 + 6x

|z| =8;arg(z) ==
Z:

{uo =2
Upt1 = Uy + 1
terme géneral

f(x) = (_x_78 + 5x° + 3x4)
flx) =

7
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() ()

— sin(—x)

P(x) = —4x? + 36
VA = 24

racines

z=—-1—-+31i
|z| ; arg(2)

f(x) = =7sin(—10x — 5)
f/(x) =

li 1
liny (575)

x>0

H(-10; 4)et B(8; 7)
|HB|

9+i)O9—-1i)

{uO == 6
Unt+1 = luy
terme général

flx) = (—%— 6x + 4x6)
f'x) =

7
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6 5
3 10
— cos(—x)

P(x) = 3x* —12x — 15

VA = 18

racines
z=—/3+i
|z| ; arg(z)

2

5
x —_—

I (11
x—1>r—noo x2>

AG3; —1et C(—10; 1)
lac]]

{uo = 10
Up+r = Uy — 6
Uig =

f(x) = (2x* — 8x°> — 9x?2)*
fllx) =




